
    Problem Solving 

1. Stuart weighs 50 pounds. Anna weighs 45 pounds. How much do they  
weigh together? 
Show your work. 
 
 
 
Answer:______________________________________________________ 
 

2. There are 3 boxes of crayons. Each box has 10 crayons. How many 
crayons are there in all? 
Show your work. 
 
 
 
Answer:______________________________________________________ 
 

3. There are 4 cars in all. Each car has 3 people. How many people are 
there altogether? 
Show your work. 
 
 
 
Answer:______________________________________________________ 
 

4. Twenty children are on a bus. Fourteen children get off. How many are 
left on the bus? 
Show your work. 
 
 
 
Answer:______________________________________________________ 
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